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QUESTION 1

Refer to the screenshot below:

Network Settings » Network Access
"E'\’ Onboard + WorkSpace )

&
3= Access j’r Protocols ”5 Authentication =] Trust m Windows s Proxy
=) Start Here e 2

7 g ' Initial Setup Ne_twork Access :
COptions for basic network access.
+ ‘@; Management and Control

= ﬁi-t Onbcard/MDM Configuration * Name:
&) Start Here

Employee_Securs
Enter a name for the network,

Connect to the example network.
31 Calendar

l___; Contacts Description:

ﬁ'—-‘ Device Restrictions

*I Email Enter a description for the network.

&3 Exchange ActiveSync " Wireless only i

) " Network Type: | Select which types of network will be provisioned.

F’K"T Network Settings Enterprise security (B02.1X) will be selected if wired networks are to be supported.
% Passcode Policy Enterprise (802.1X) =

@ Subscribed Calendar * Security Type: | Select the authentization method used for the network.

% VPN Settirlgs Enterprise security (BUZ.1X] will be selected if wired networks are to be supported.
{3 Web Clips and Bookmarks Wireless Network Settings
Options for wireless network access.

+ % WorkSpace Configuration T =

WPA2 with AES (lecommended) -
* Security Version: Select the WPA encryption version for the wireless network.
a_,, Self-Service Portal This setting is used for Windows, Android and Legacy 05 X (10.5/6) devices only.
105 and 05 X 10.7+ (Lion or later) devices auto-detect the WPA version.

¥ ':g.'-_ Deployment and Provisioning

% gop.  SCeuUre_emp
" Enter the S5ID of the wireless network to connect to.
“, Configuration e ] Hidden network

Select this option if the wireless network is no: open or breadcasting.

“i Administration

Which of the following statements is true regarding the above configuration for network settings? (Choose 2)
A. Onboarded devices will connect to Employee_Secure SSID after provisioning.

B. Onboarded devices will connect to secure_emp SSID after provisioning.

C. Users will connect to Employee_Secure SSID for provisioning their devices.

D. Users must enter a Pre-shared key to connect to the network.

E. Users will do 802.1X authentication when connecting to the SSID.

Correct Answer: BE

QUESTION 2

Refer to the screen capture below: Based on the Translation Rule configuration shown above, which of the following
statements is true?
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Jata Retention 4 -g MatchAdmin memberof contains CN=Administrators Assign operato

mport Configuration 3’ Edit €3 Delete __.h Duplicate 3¢ Disable 1' Move Up J} Move Down
perator Logins

o start Here

[ Login Configuration * name: MatchAdmin |
A " | Enter a name for this transiation rule,

@i’ Profiles =

ﬁ Se Enabled: ® Use this rule when processing reply attributes

rvers
| 2 memberof
Attribute N L

-a;, Translation Rules ribute Name Enter the name of the attribute (e.g. memberof). Use * for all attributes.
g Hisneasy
i Matching Rule:
iMS Services - Select the matching rule to apply to the value of the attribute,
wupport Vils: [CN=Administrators

" | Enter the value to match the attribute against.
On Match: [ Assign fixed operator profile :]

Select what happens when this translation rule matches an attribute.

(1T Administrators )
Select the operator profile to assign,

Operator Profile:

Continue transiation if rule matches
Check this box if you want to apply multiple translation rules.

T

A. A user from group MatchAdmin will be assigned the operator profile of IT Administrators.

Fallthrough:

B. All active directory users will be assigned the operator profile of IT Administrators.

C. All admin users will be assigned the operator profile of IT Administrators.

D. A user from group Administrators will be assigned the operator profile of IT Administrators.
E. This translation rule is not valid for Active Directory administrators.

Correct Answer: D

QUESTION 3

Which of the following components of a Policy Service is mandatory?
A. Enforcement

B. Posture

C. Profiler

D. Role Mapping Policy

E. Authorization Source

Correct Answer: A

QUESTION 4
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Which of the following statements is true about the skin plugins in ClearPass guest?
A. Skins are created by Aruba Professional Services.

B. Skins allow addition of content items to web login pages.

C. Skins are used to create hotspot login pages.

D. Skins are used to create Onboard registration pages.

E. Skins allow customers to implement advertising.

Correct Answer: A

QUESTION 5

What does the Posture Token QUARANTINE imply?

A. The client is compliant. However, there is an update available to remediate the client to HEALTHY state.
B. The posture of the client is unknown.

C. The client is infected and is a threat to other systems in the network.

D. The client is out of compliance.

E. The client is out of compliance, but has HEALTHY state.

Correct Answer: D
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